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Question Id : 3421233520 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

The following table shows the percentage (%) distribution of population in five different age
groups for five different cities A-E. Based on the data in the table. answer the questions that
tollows.

City-wise Details of Population

Percentage Distribution of Population in Age Groups of
O=Age=13|13=Age=19 | 19<Age=35 | 35=Age=60| Age=60
A 18% 12% 24% 30% 16%
B 16% 18% 22% 29% 15%
C 20% 20% 20% 25% 15%
D 15% 18% 21% 26% 20%
E 18% 15% 25% 24% 18%

Note: a<Age=b means Age belonging to group (a.b]
Sub questions

Question Number : 1 Question Id : 3421233521 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the number of people in city-A belonging to the age group of (19-35] years is 31680, then how
many people are there in the age group of more than 60 years?

1.21120

2

. 24280
3. 23680

4. 19350

Question Number : 2 Question Id : 3421233522 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 2/135
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If the population of City-E in the age group of (0,13) vears is 16200, then the population in the
age group of (0,13) years of City-E is % of population in the age group of (13,19] vears of
City-E.

1. 60

ta
=]
h

4. 120

Question Number : 3 Question Id : 3421233523 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the population of City-C and City-D in the age group of more than 60 vears is equal to 24000
each, then what is the sum of the total population of City-C and City-D?

1. 2.4 lakh

(]

. 2.8 lakh
3. 3.2 lakh

4. 4.8 lakh

Question Number : 4 Question Id : 3421233524 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

It the population of City-A and City-B in the age group of (19.35] years are 17280 and 21120,
respectively, then what is the ratio of the total population of City-A to that of City-B?

L7223

I

.34

Question Number : 5 Question Id : 3421233525 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 3/135
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It the total population of City-B and City-E are 96000 and 130000, respectively, then the
population of City-E in the age group of (0,13] years is approximately % more than the
population of City-B in the same age group.

1.47.24

[

. 49.67

Tad
h
[
Tad
=Y

+
L
=
h

Question Id : 3421233520 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

frafafad arfdeT O uid i e A U E & felU gid {953 3gam &1 SHawe & Uidwrd( )
fqaRUT D G211 741 g | difcids] # fAU U 3fidhs! & SMUR U, Ul & IR Sifog|

STTEREAT B1 WER-dR fdR0T

9 gt o S faavu &1 ufawa
0=3Mg=13 | 13=HTG=19 | 19=3HG=35 | 35<HT=60 [ HTT=60
A 18% 12%s 24% 30% 16%
B 16% 18% 22% 29% 15%
C 20% 20% 20% 23% 15%
D| 15% 18% 21% 26% 20%
E| 18% 15% 25% 24% 18%

fequof. a=3Hg <b P mf%a?f (a.b] & Afgaal & 3.

Sub questions

Question Number : 1 Question Id : 3421233521 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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8/24/24, 12:33 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

e WE-AH 3 a1 (19-35] I8 & Hfadal Bl G=AT 31680 ¢, Al dgi W v Hfdkd 60 a8 U
3 g & g2

1.21120

I

. 24280
3. 23680
4. 19350

Question Number : 2 Question Id : 3421233522 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

¢ WY -E 1 (0.13] T o 311G 1 DI SIHEAT 16200 8 I, SR -E T (0-13) T4 G T Bl
ST RER E H (13-19) AU & AT T DI GTHIATHT % 8-

1. 60

B
=]
A

4. 120

Question Number : 3 Question Id : 3421233523 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gie 60 a9 T it 1Y 97 T g ¢ AR e D DI SHEA], YD T 24000 8, A UG €
3R 2ER D DI Dl TGS DI TN R g2

1.2.4 cld

I

2.8 ¢ld
3.3.2 ¢4

4.4.8 ¢ld

Question Number : 4 Question Id : 3421233524 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fe WX A 3R UG B Bl 3R I (19-35] T4 P SHIEAT HHT: 17280 3R 21120 §. I AR
A S SR BT WG B DI g1 H T UM g2

L:i2:3

I

.34
3.4:5
4.5:6

Question Number : 5 Question Id : 3421233525 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

¢ MY B 3R SR E DI Hol -G HHTT: 96000 R 130000 8. o U E H 3 T (0-

13] 9N B ST, THMH HGdH B G B DI STAERAT G T oo % (U B-

1. 47.24
2. 49.67
3.52.34
i e

Sub-Section Number : 2

Sub-Section Id : 342123144

Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 3421233526 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 6/135
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Which of the following teaching techniques do not represent modern and ICT based teaching
method.

A. Recitation and Memorization
B. Flipped Classroom

C. Mind maps

D. Chalk and Talk Method

E. Gamification

Choose the meost appropriate answer from the options given below:

1. B and C Only

b2

.C and D Only
3. Aand D Only

4. D and E Only

Question Number : 6 Question Id : 3421233526 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ﬁﬁﬁ?ﬂﬁﬁﬁﬁ?ﬁﬁﬂ@ﬁﬁ%%ﬁ?&ﬂé 1. 21 ameTRd e &1 uaiRid g
Bl g2

A, TR UIS 3R $oR Al
B. [halts e
C. 7138 HY/ HFY HHEREAU
D. 9l US Tldh Ugid
E. THIMh I / Welldhul
A feu T fawedl § 9 o IR B 99 DIIT;
. HadB AR C
2. HAd C AR D
3. HAd A ARD

4. HadD AR E

Question Number : 7 Question Id : 3421233527 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Concept Description

L A unit by which the course work 1s measured. It defines the number of hours

A | Academic vear | L 2 2 :
= of instruction required per week
8 | Credit Pomt I Papers taught under the programme duly defining the learning objectives and
outcomes

C. | Credit III. | Two consecutive (one odd and one even) semesters
D. |Course IV. | The product of grade point and number of credits for a course

Choose the correct answer from the options given below:

1. A-IIT, B-1I, C-IV, D-1

t-2

. A-IV, B-1, C-III, D-II

3. A-III, B-1V, C-1, D-II

4. A-1I, B-1II. C-1IV, D-1

Question Number : 7 Question Id : 3421233527 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1D 1Y AT 11 D1 I Pifore

A |defreas | 1 | EPTE ST U ST SIS 8 1 $9H 0 e & o
HIGRg @ &l G- & Uel o uRHId forar ol &
B |pRedee | n W%ﬁ;ﬁmﬁ%ﬁu@éaﬁaﬁﬁwaﬂmaﬁmﬁwﬁmﬁﬁ
Hfse 1T | &1 AN (U [9uH 3R U 99) G- aiid Jeama
D. |uda®mn IV. | UTeumH & faU U8 tis= 3R Hige @& &1 Hwd

A faU U faded] § U It 3R &1 99 HIoIu:

1. A-IIIL, B-1I, C-IV, D-1

[

. A-IV, B-1, C-III, D-II

3. A-IIL, B-1V, C-1, D-II

4. A-II, B-TII, C-IV, D-1

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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Question Number : 8 Question Id : 3421233528 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What among the following cannot be treated as the role of a teacher?

A. To be strict and fair but not harsh

B. Openly criticize colleagues in public, especially in front of students
C. Hard working
D. Motivates students and encourages them

E. Reports theories and content but avoids explanation

Choose the most appropriate answer from the options given below:

1. Aand B Only

2. A, CandD Only

3.B, C and D Only

4. C.D and E Only

Question Number : 8 Question Id : 3421233528 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafafad o O f6-d! g & YiteT & 3 o 981 A1 & Uddl 62

A. T 3R ¢ i Hh2 ol

B. UedhHdl &1 vl |, [9=19 U I f=nfial o THe 1< &l
c. Hegad!

D. faental & URd 3R Uidifgd &3 dra

E. (STl 3R f[audasd &1 9did ¢ i I9P] e H3- d §dd g
A fau U fadedl § U ¥8T 3R &1 994 DI

1.$dd A3RB
. Had A, C 3R D
3. $Hdd B, C 3R D

4.$HadC. D3R E

]

Question Number : 9 Question Id : 3421233529 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

LISTI

Jackson's learning style

LISTII
Description

Responsible, rational learners, endowed with an urge to explore the

Achiever

A |High sensation seeker | L B :
= > world so that positive goals can be achieved
: Learns from their mistakes, possess a scientific, detached and

Goal oriented . . S ;

B i II. |autonomous learning stvle, processes information in an emotionally
intelligent-manner

Emotionally : ; ; ctesipy
C. : i III. | Gets involved in new challenging activities

Intelligent Achiever =
D Conscientious v One who sets learning goal which are generally hard and specific and

has confidence to achieve the goals.

Choose the correct answer from the options given below:

1

2

. A-II, B-III, C-1, D-IV
. A-IIL B-1V, C-11, D-1
. A-IV, B-1, C-1II, D-II

. A-I, B-1II, C-IV, D-II

Question Number : 9 Question Id : 3421233529 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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AT 1S 1Y &I 11 DT e Hifoy

g28.digialm.com/CAE/viewHtmIPDFAction.action

I I
w iR fags! fRremlf i ovg &1 @ie 39uv @ 98 8id1 6,
A |SE PRI | L | ora e da e for T 9|
AUt Tafaat @ died &, 399 ae dewy 3R o Sifie
B %ﬂ%@mmﬂ 1 %ﬁwﬁaﬁﬁwmnﬂwﬁéﬁfﬁgﬁiﬂaaﬁ%ﬂm
!
C Wﬁwfﬂm I11. | U gHidgef saar & gfffed g gl
5 . |58 =t vE aiftre g ffE| & 51 o 9. $ie- Sk Ry
D. | eI Sucliedd V- | S ¥ o oad 3 qiedl o i B A T FaTa el 2|
= fqu U fadeal § O 9gt 3R &1 99 DT

|

B

. A-IL, B-IIL C-I, D-IV

- A-IIL B-1V, C-I1, D-1

. A-IV, B-1, C-III, D-II

. A-I, B-1II, C-IV, D-II

Question Number : 10 Question Id : 3421233530 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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Which of the following are correct in the context of Artificial Intelligence as one of the
innovations in evolution system?

. It is a software system used for automated scoring

. “AI" technique is applied to learn how an instructor grades a problem/response

. It is the final authority about the student's performance

. The instructor evaluates a sample set of students responses and *Al’ system creates a
computer model incorporating rules inferred

E. Presently, most of the higher educational institutions in the country employ *Al” based

evaluation system.

Onm e

Choose the most appropriate answer from the options given below:

1. Aand B Only
2. A.Band C Only
3.C,D and E Only

4. A, B and D Only

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 12/135
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Question Number : 10 Question Id : 3421233530 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el § U & ¥ fdbed Gelih--Uulel § U HaM6R & $U § iEhIR™d Sedlol-g
(PIEH i) & HeH H Tel ©-

A. U R GG (W1 & [T ITarT fdhdr S arel T HiiedaR gl
B. “U. 3115 UG &1 SN I S o forg faba ST g fob i Uiiero iy YR fabit
TY/ 3feha1 DI Yuiidhd Sl g
c. 3 faendf & ue=iH & aR ¥ (Huigs gam gl
D. W& faendf o ufdichar & ufdexl/ 9rdd Ue &1 Jedidhd HRdl g 3R T, {1 Yol
ST Al &1 gurafRid b de disd [Hid $d S|
E.%@ﬁ,ﬁﬁﬁ%@ﬁﬁ?ﬁf&ﬂ@@ﬁ"ﬂ 31 MUTRA Yot Wommel Wi
|

- feu e faseut # ¥ @7 IR &1 99 DI
1.Hdd A 3R B
2. HIAA, B3R C
3.$dd C, D 3ARE
4. HdAA, B3R D

Question Number : 11 Question Id : 3421233531 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The process of telling research participants of any deception or ruses used in a study, is known as

1. Active deception

t-2

. Passive deception

3. Dehoaxing

=

. Desensitization

Question Number : 11 Question Id : 3421233531 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AFYYH P HITERT B g H IUaNT ST 15 fH8! YA 34d 90 & IR H §dMH &
UfehaT el &-

L. O Yl
2. ST YA
3. SIgIaET

4. 3FHACIHRT

Question Number : 12 Question Id : 3421233532 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In qualitative research, which of the following criteria is concerned with the question do
the findings apply to other contexts?

1. Transferability

f2

. Credibility

4

. Internal validity

4. Confirmability

Question Number : 12 Question Id : 3421233532 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

D S H (afRad & 9 & 91 ards Uy 1 RO 3= HeHi & e
AR gld B, ¥ Hdfd 8o

1. 3fRuliadr
2. [aY e
3. 3R eyl
4. IR

Question Number : 13 Question Id : 3421233533 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the datasets with following pairs of mean( ) and standard deviation (o) in increasing
order of their coefficient of variation.

14

Il
Il

2-8
1-5
2-1

Cnwp

= = = =
]

"-" q Cl q
]

9,
12
8,

Il

=1.2

Choose the meost appropriate answer from the options given below:

b BC D
i 0 £ Wl .
3.0, B, A

46, DA B

Question Number : 13 Question Id : 3421233533 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

H1¢ (%) 3R AFS fade (o) & FEfeiad Siisl drel Sierdd & 3 fd=ror quid &
3RIS! ¥ H afRyd BT

.x =14,
X =9
x=12,
X =8

]
»

el 3R 1 94 DHIfIU:

3.D,B,C,A

4.C,D.A.B

Question Number : 14 Question Id : 3421233534 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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According to UGC regulations 2018 on plagiarism a faculty will be denied two successive annual
increments for which of the following similarities in research publications?

MmO 0w
=]
2
=]

52%
Choose the meost appropriate answer from the options given below:
1. A. B and E Only
2. B, C and D Only
3. A.B,Dand E Only

4. C and D Only

Question Number : 14 Question Id : 3421233534 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Yifgfde® IRT (WiERE) 1R g, S 9 a0 2018 & 2F9R, Y YbE §
frafeiRagd o 9 fod- gaMHdsi & fau fhdl S6rg 9ad oI &l Hife aitie da- gfadl
dfad foar Smemme

.42%
. 38%
. 76%

]

monNnwp 4

A fau U fasmedl § 9 ¥8T 3R 31 994 DI
. Hdd A, B3R E

. $HadB,C 3R D
3. HAAA.B.D3IR E
4. PadC AR D

f-2

Question Number : 15 Question Id : 3421233535 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Type of variable Example
A | Nominal I. |Happiness level
B. | Ordinal II. |Height
C. |Interval III. |Blood group
D. |Ratio IV. | Year of birth

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV

I

. A-II, B-1II. C-IV, D-1

3. A-III, B-1, C-1V, D-I1

4. A-IV, B-111, C-1, D-II

Question Number : 15 Question Id : 3421233535 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

AT 1S 1Y &I 11 DT e Hifsy

1 g

T HIUPN Jale
A |sifea L Qe ®R
B. |HHYd® I (&= @

C. | 3R ndlkatrn
D. | U IV. |S @1 ay

A fGu U 9 edl § U Iot IR BT I999 BIIT;

1. A-I, B-II, C-III, D-IV

(B

. A-II, B-III, C-IV, D-I

3. A-III, B-1, C-1V, D-I1

4. A-IV, B-111, C-1, D-II

Question Number : 16 Question Id : 3421233536 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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First printing press in India was established at:

1. Goa

t2

. Kerala
3. Tamil Nadu

4. Bengal

Question Number : 16 Question Id : 3421233536 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

URd H ugdl Tl Uey Euerd &1 1941 gs A
BRI

A H

ISR

4. SA H

f-2

L

Question Number : 17 Question Id : 3421233537 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The main purpose of establishing Television in India at the initial stage was:
1. News
2. Entertainment
3. Education and awareness among the rural population

4. Scientific development

Question Number : 17 Question Id : 3421233537 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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R TR H HRA H gRGRA &I RITTHT ST I3 Ya1e UT-
1. GAER

HARSH

3. JTHIOT SRS H fRI&7T 3R S

4. AT fabr

f-2

Question Number : 18 Question Id : 3421233538 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the sequence the 5 Cs (Elements) of communication

A. Compassionate
B. Curious
C. Compelling
D. Concise
E. Clear
Choose the most appropriate answer from the options given below:
1.A,B,C.,Dand E
2.B,A.C,D,and E
3.)EED.C.Band A
4.D,E.C,Aand B

Question Number : 18 Question Id : 3421233538 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YUY & 5 Ul (Fohl) BT U1 3hH H AR DifeU

A. HUTFT (STTd)
B. FRIY (SRIN)
C. hUleHT (FIDRY)
D. ©d13Y (Hgd)

E. fael@R (W)

i fu U fad el § 9 @81 IR &l 994 Diflu;

1.A,B.C.D.E

2B, A,CD E
S EDC B, A

4 D.E.C.A.B
Question Number : 19 Question Id : 3421233539 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Basic factors of listening are:

A, Self interest

B. Speaker

C. Facts

D. Style of speaking
E. Atmosphere

Choose the meost appropriate answer from the options given below:

I.A. BandD Only

B

. A, Cand E Only
3.B. C and E Only

4. B. D and E Only

Question Number : 19 Question Id : 3421233539 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A, 3T TSl

B. 9l

C.dw

D. dIp-2cil

E. URGRI/ SIdTaRl

i feu T fahedl § 9 a1 IR B 99 DIIT;
1.$Hdd A, B3RD

2. had A, C 3R E
3. Had B. C AR E
4. HAd B, D 3R E

Question Number : 20 Question Id : 3421233540 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTI
Mass media Example
A |FM I. | The Trbune
B. |Newspaper II. |Rediff com
C. | TV Channel ITI. | Radie Mirchee
D. |Internet IV. |CNBC

Choose the correct answer from the options given below:

1. A-II1, B-11, C-1, D-IV
2. A-IIL, B-1, C-IV, D-II
3. A1 B-II, C-IV, D-IIT

4. A-11, B-1, C-III, D-IV

Question Number : 20 Question Id : 3421233540 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

kS Sie
FTHER IGTEI00
Uh UH I |&fesgd

HHEN U . |3fE% BIF Rediff com
A dga | |[Yfefef

ELET IV. |9t o st i
Ard U U f[dahedl § 4 To1 SR BT 999 DIl

1. A-IIIL, B-IL, C-1, D-IV

olo|w|»

2. A-III, B-1, C-1V, D-II
3. A1, B-II, C1IV, D-IIT

4. A-IIL, B-1, C-III, D-IV

Question Number : 21 Question Id : 3421233541 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The cost price of two articles is same, one of them is sold at a profit of 13% while the other one is
sold at a profit of 19%. If the difference between their selling price is Rs. 126, the cost of price of
each article is

1. Rs.1800
2. Rs.1900
3. Rs. 2000

4. Rs. 2100

Question Number : 21 Question Id : 3421233541 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Sl el & ANd qed G S | STH Y UD Dl 13 % & A Y Sdih GO Bl 19% H dH
ST SIIAT §1 4 3 fafhd Hea & S 3. 126 &1 2R &, d1 Ud® 9% &1 AT Hed -

1.%.1800

2.%.1900
3.°%. 2000
4.%.2100

Question Number : 22 Question Id : 3421233542 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A ship is approaching towards a shore, when it is 32 miles from the shore, a plane having speed
15 times that of the ship is sent to deliver supplies. How far from sea shore does the sea plane
catches up with the ship?

1. 30 miles

I~

. 25 miles
3. 15 miles

4. 10 miles

Question Number : 22 Question Id : 3421233542 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uch ST dc di 3R d¢ 381 ¢ | 9id 98 YHgdc U 32 Hid g2 ¢ o U 9y forgant 7ifd
ST ¥ 15 THT 31D . B el & faaRor & fag 31 S 81 §gde ¥ fbadl gl W

A g, S db Ugd Sei?
1.30 did

25 Hid
3. 15 Hid
4. 10 Hidl

[

Question Number : 23 Question Id : 3421233543 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following fractions in increasing order-

Choose the most appropriate answer from the options given below:

.A,B,C,D
2.A,D,B,C
3. D,AB;C

4.B,D,C, A

Question Number : 23 Question Id : 3421233543 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafafad fial o SRigl H H orafed Sifsr-

KoL

11

11
B
c 2

13
p BB

21

1 fGU U fasedl # U g3l & 994 DIl

1.LAB.C.D
2A.D.B.C
3.D.A.B.C
4 B.D. C, A
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Question Number : 24 Question Id : 3421233544 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the numbers that occur in the given series:- 0.3,10.21.36.......

Mo nwp
i e~ e B |
W O ND GO Lh
o L

Choose the most appropriate answer from the options given below:

1. A, B, Cand D Only

]

. B, C and E Only
3.C, D, E and A Only

4.D.E, A and B Only

Question Number : 24 Question Id : 3421233544 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3 T3l ol Ugd Hifeld §if &1 715 90f1 0,3.10,21,36,..... H 3mufi-

Lh
A

.78
.99
.. 105
. 136

-4 feu U fasetl # 9 @1 SR &1 99 ST
1.®dd A, B, C 3R D

HdAB.C3AR E

3.$HddC, D, E 3R A

4. HdAD,E. A 3R B

HUOwp

R

Question Number : 25 Question Id : 3421233545 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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LISTI LISTII

Word Unique code
A |QUAKE . |QDBBI
B. |JOFTEN II. JEQIUFE
C. |PEACH 1. |[RTBIE
D. |IDRIVE IV |PEUDO

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV

2. A-1l, B-1II, C-1V, D-1

3. A-IV, B-1, C-II, D-III

4. A-IIT1, B-1V, C-1, D-II

Question Number : 25 Question Id : 3421233545 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

il -1 6 91y Y11 31 firem sifere

LISTI LISTII
g fafere $c
A |QUAKE I |QDBBI
B.|OFTEN II. |JEQIUF
C. |PEACH III. IRTBIF
D |DRIVE IV [PEUDO
" fGu U f[9dedl # U I8t 3R &1 994 BIIU;

1. A-I, B-II, C-III, D-IV

2. A-11, B-IIT, C-1V, D-1

3. A-IV, B-1. C-II, D-III

4. A-III, B-1V, C-1, D-II

Question Number : 26 Question Id : 3421233546 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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What can be correctly claimed about the following?
“I ate because I was hungry”

1. Its an argument.

(]

. Its a Non-argument
3. Its a non-argument, it's an Explanation

4. Its a non-argument, it's an Illustration

Question Number : 26 Question Id : 3421233546 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafeIRad a19d & 1olu 399 T &I 1 g1a1 Yl 62
<4 YIS fdoar ifd o oy a1

1. 4 U giak/dd §

2. U UH 3gfad/3idd §

3. 4 UD 3fad/3fdd g, Ug AT §
4. UD ffay/Hdd g, ug epid @

Question Number : 27 Question Id : 3421233547 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Name the fallacy committed in the following:
“All the textbooks are books intended for careful study. Some reference books are books intended
for careful study. Therefore, some reference books are textbooks”

1. Fallacy of Illicit Minor

. Fallacy of Illicit Major

B

3. Undistributed Middle

o

. Fallacy of four terms

Question Number : 27 Question Id : 3421233547 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frafeigd o gU US g &1 A 91

Ul UreaqRddy AHYdD I & YU H 91 Td 81 $2 YoH Txddh AMYdD

S & HYUE Y 4] Yedd ¢ 1"39eIU, & e J&dd Uléd Uk g |
 3fdY dY Ug gy

3{dY 7B Ug Iy

3. AT gd &N

4. IR UG BT AW

[a—

B

Question Number : 28 Question Id : 3421233548 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the fallacy committed in the following:

EE)

“Ford cars are lemons. I have owned two and they gave me nothing but trouble™.

1. Inappropriate appeal to authority
2. False alternative
3. No fallacy

4. Hasty Generalization

Question Number : 28 Question Id : 3421233548 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Frafaiad &3 H gU U dd &Y &1 UgaH DI ﬁ
“TpIS ST (@R) (/g 1 R UM &1 § 3R 3614 § ed & g faar g

1. DR 9 U S ugd Sdid
2. 7ard fadhed

3. ®ls db Gy el

4. TR FHATHRT

Question Number : 29 Question Id : 3421233549 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following is incorrect claim in the context of Vyapti?

1. For Carvakas, it is possible to ascertain that smoke is invariably and universally attended
with fire all the time

(]

. For Buddhists. the universal relation between smoke and fire can be ascertained even
without examining all the possible cases

3. For Vedantins, Vyapti between smoke and fire is known to co-exist and at the same time it is
never known not to accompany smoke

4. For Naivayikas, it is neither easy nor necessary for the formation of a universal proposition
to ascertain any relation of causality or identity between the two phenomenon

Question Number : 29 Question Id : 3421233549 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e & Yeu # FufaRad # T &H 1 ara1 7Ted 22

 ARATDh! & o8 Tg 78 HRATHHT ¢ Tob Yait 3uikgrd sk wifdEe $u 9 ¥ed =i &
1Y JURRd glal g

il & oL, YU 37R 21 & oFd 9d Gy Ty o g grae § aieo foy 94T o gar
AT ST ghdi g |

- deli=al & feu, 4u 3R 31 & o9 A1t Ugadi ¢ 3R 1Y g1 d HHil 1t fo1 (i & g4
EARERIEIEIEIGIE

a1 & forg, g Uiasifd S & fau SFf uRuere & §id SIS gdd dde a1
UgdM & [HUTRT HA1 9 df ATH 3R A9 6l ad ol

—

f2

s

4=

Question Number : 30 Question Id : 3421233550 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the context of sentence meaning relationship which of the following refers to 'Expectancy’

1. Asatti

f-2

. Akamksa

L

. Yogyata

=

. Tatparya Jaana
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Question Number : 30 Question Id : 3421233550 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

- 3 ey & e H Fafaied O 9 <uayuaed (U &1 ol |18
1. 3

. ATehie

3. g

4. IO {1

]

Question Number : 31 Question Id : 3421233551 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If (L), 4 represents a number L in base - 16 number system, then (4AC) ¢ + (9BF )=

1. (E6B)1g

| ]

(ATBF)i¢

L

. (CFC)y5

4. (D68)1¢

Question Number : 31 Question Id : 3421233551 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 99-16 3P UUMTell H (L);4 SRAT L DI USRId BIAT 6. Al (4AC);4 + (9BF) =

1. (E6B)g

2. (A7BF)¢

)

3 {CHO)sg

4. (D68)1¢

Question Number : 32 Question Id : 3421233552 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Microsoft PowerPoint comes with several categories of built-in transition effects. Which of the
following is not a type of transition effect supported by Microsoft PowerPoint?

. Subtle

(]

. Speed
3. Exciting

4. Dynamic Content

Question Number : 32 Question Id : 3421233552 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I [HIUe UraRulg fdee- ol yyId &1 3 4ol d oird g | Fafafad § § o
I ISl U HI3eh It grauie< gRT 9aidd UeR 8l g2

1. 9cd
2. WIg

3. Ui

4. SEHAMHD B

Question Number : 33 Question Id : 3421233553 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Identify the correct order of the following computer storage capacities A-E from largest to
smallest capaity (1 K= 1024)

1000000 K Bytes
100000 M Bytes

1 T Bytes
10000000000 Bytes
100 G Bytes

mONnwp

Choose the meost appropriate answer from the options given below:

1.E,C,B,D,A
2.0, E. B, D C
3.D;C.E; B, A

4.C,E,B,D,A

Question Number : 33 Question Id : 3421233553 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FafaRad SR WRE (USRI &Hd131 A-E ©f 949 3{U$ Y a4 S &HdI D Tl a H
IdfRYd PISTY(1 K= 1024)

1000000 fhcldISE (kBytes)
100000 HIT §13¢ (M Bytes)

1 é?lalﬂa (T Bytes)
10000000000 Bytes
100 G Bytes

A fGu U fadedl § 9 ¥8T 3R &1 994 DIoIU:

1.E,C,B,D, A

mon W p»

]

AE B D C

LS

D E B A

4. C,E,B,D,A

Question Number : 34 Question Id : 3421233554 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In cloud computing, which of the following are the advantages of using cloud storage?

A. Data files of customers stores on the cloud can be accessed at any time from any device
anywhere in the world provided internet access is available.

B. There is no need for customers to carry an external storage device with them or use same
computer to store and retrieve information

C. If the computers have slow internet connection, then they would not face any problems
accessing or downloading their data files

D. Cloud storage is typically delivered by a cloud service provider

Choose the meost appropriate answer from the options given below:

1. A. Band C Only

t2

. A, B and D Only
3. Aand C Only

4. B and C Only

Question Number : 34 Question Id : 3421233554 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Fellgs DT H Flds TRl & HEfaRad & o 9 a1y 82

A. T3S IR HSIRT Y| Bl STel- BISal ddb 5e-e bl Iudsdl giH IR fay R d dal
R i, Tl ot oy o off fSars g 9§ ugn ol 9adi 2 |

B. SHGRI &l HSTRA SR U: U $H- b [¢1U rgah| DI fhdl argl <R [Sargq rdl
J HR BT FTAN D B ARGl Tei gldl ¢ |

C. TS ATGD! BT ST HaRM H gl dl ITD1 (U1 SeThlgdl db Ugd U1 SISl

¥ H fbdl UL BT AT 981 HAT US|
D. T3S LR Bl USiUd U U Fell3s Hal Ualdl gRI UeH fbdl Sl |
e feu T 9l 7 9 FT SR D1 99 BIfST:
I.Hdd A, B 3R C
2. HdAA, B AR D
3. Hdd AR C

4. HAAB 3R C

Question Number : 35 Question Id : 3421233555 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI

Digital India Theme

LISTII
Purpose

Subscription-based scholarly information (e-books and e-journals) at lower

A |e-ShodhSindhu | L e

B. |e-Yantra II. |Robotics outreach project run by IIT, Mumbai

C. |e-Vidwan III. | Expert database and National Researcher's Network
D. |e-Kalpa IV, | Dagital-learning environment for design

Choose the correct answer from the options given below:

1. A-IV, B-11, C-III, D-I

]

. A-IIL B-I1, C-1, D-1IV

3. A-L, B-II, C-III, D-IV

=

.A-IL B-1V, C-1II, D-1

Question Number : 35 Question Id : 3421233555 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e ERINE eIl CANERIEEIELY

I I
UEIER)

A |£ vy " ;isga%-g? HIHTRT HEGRNE THBRI (3-G&dd AR 3 -S-eh) Tl &
ERE] 0. |31 3 & gus gRT I o <eT Asiiead Agedid Helde
s- fagH 111, | U0 STered 3R I3 =y Jedd

D. |- % 1v. | fafored i Tarde (3ffavms uRamn

" f6u U Al § U Tot 3R &1 I994 BIIT;

1. A-IV, B-11, C-III, D-1I

I

. A-IIL B-11, C-1, D-IV

3. A-L, B-II, C-IIL, D-1IV

4. A-II, B-IV, C-I1, D-1
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Question Number : 36 Question Id : 3421233556 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The amount of rainfall required to saturate the soil is known as.

1. Field Capacity

(]

. Soil Moisture content
3. Soil Moisture deficit
4. Wilting Coefficient

Question Number : 36 Question Id : 3421233556 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a1 &1 Yqwd B B (AT ATa=aS a9 B HHT B o-
1. e o YTRn

2. el 4! Dl |l
3. HeT AH AT
4. T1( T[0T

Question Number : 37 Question Id : 3421233557 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Groundwater is specially prone to excessive hardness due to.

. Calecium and Sodinm 1ons

]

. Calcium and Magnesium ions
3. Sodium and Magnesium ions

4. Potassium and Calcium ions

Question Number : 37 Question Id : 3421233557 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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19 &1 IUTUFA & BRI HITSTe [N ¥ e HERdl B Udf gldl ¢-
1. HicaH 3R WISy 3

 hicHTH SR HARIEH 3E

3. WIfSTH SR HifREy g

4. UIeRrgn SR Sfcam s

f-2

Question Number : 38 Question Id : 3421233558 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following events in the order of their occurrence starting from oldest to the recent.
A. Bhopal gas tragedy
B. Fukushima disaster
C. Chernobil disaster

D. California Smog
E. London Smog

Choose the most appropriate answer from the options given below:

L.EE B A C
2.E;C.A,B.D
3B EAC B

4.E.D.A,B.C

Question Number : 38 Question Id : 3421233558 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FafaRad ge-rs & 39 9ied gH & ®H H Tad UdF ¥ 3RY $Hd gU TdiHad ddb
AT BT

A. HIUTE T A1G1
B. BRI gl
C. Iifad g
D. hlhITa1 T (YH-HIgR)
E. ded ST (YHDIERT)
1 fGU U fasedl 7 U gt I &1 904 I

1.D,E, B, A C

b2

.E,C,A.B,D
3D EACB

4.E.D,A,B,C

Question Number : 39 Question Id : 3421233559 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following National missions come under the National Action Plan for climate
change?

A. National Solar mission

. National Water mission

. National Green Hydrogen mission

. National Mission for Sustainable Agriculture
. National Mission on Sustainable Habitat

HON®

Choose the meost appropriafe answer from the options given below:

1.A. B, CandD Only

[

. B, C and E Only
3.C.D, E and A Only

4.D,E, A and B Only

Question Number : 39 Question Id : 3421233559 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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%@Hﬁﬁﬁﬁmw,mmWWW(mmﬁm
87

A. TP IR el (AeR) e
B. IPT oid A=H
C. P A RS fHRH
D. IV SHEanil HeRufia HiY ffH
E. 191 afuaitl derofia qafarg frg=
A fau U fasedl # 9 ¥8T 3R &1 994 Dol
1.Hdd A, B, C 3R D
. Had B, C 3R E
3. $HddC. D, E 3R A

4. HddD.E.A3RB

b2

Question Number : 40 Question Id : 3421233560 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII
Organism Trophic Level
A |Lion I. | First Trophic level
B. |Trees II. | Second Trophic Level
C. |Fish III. | Third Trophic level
D. | Grasshopper IV, |Fourth Trophic level

Choose the correct answer from the options given below:

1. A-1, B-1IV, C-II, D-IIT

I

. A-IV, B-1, C-1II, D-II
3. A-1l, B-1II, C-1, D-IV

4. A-1I1, B-11, C-1V, D-1

Question Number : 40 Question Id : 3421233560 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A =R L |gyn giel &R
B |3 11 | fercf o =R
C. |gadl 101 | it aret 'R
D. |fegi g | v | =g ot =R

Ard U U f[dahedl § 4 To1 SR BT 999 DIl

1

2

Question Number : 41 Question Id : 3421233561 Question Type : MCQ Option Shuffling : No

. A-L B-IV, C-I1, D-III

. A-IV, B-1, C-1II, D-II

. A-IL, B-III, C-1, D-IV

. A-IIL B-11, C-1IV, D-1

Correct Marks : 2 Wrong Marks : 0

According to National Credit Framework (NCrF). the credit level earned after obtaining

Bachelor's degree (three years of undergraduate programme) will be

I

[

Question Number : 41 Question Id : 3421233561 Question Type : MCQ Option Shuffling : No

7

h

h

h

h

Correct Marks : 2 Wrong Marks : 0
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PG hfSe BHID (NCrF) & 3FTIR Hdd &1 IUlfY (fhdt +it di a9 & sfszasue g
Tt B3 & U4Td 3ifSid hige B wR ghl-

S

]
LA
Lh

7S]
=)
L.}

e
h

Question Number : 42 Question Id : 3421233562 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The acronym ‘APAR" for the student ID stands for:

1. Authentic Permanent Academic Account Registry
2. Automatic Personal Academic Account Registry
3. Automated Permanent Academic Account Registry

4. Authentic Personal Academic Account Registry

Question Number : 42 Question Id : 3421233562 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following flagship programmes in chronological order according to their years of
launch.

A. Naya Savera- Free coaching and Allied Scheme

B. USTTAD

C. Pradhan Mantri Jan Vikas Karyakram

D. Maulana Azad National Fellowship

Choose the most appropriate answer from the options given below:

1.D.AC.B

2.4, D, B.C

3.B.C.D.A

4. A.B,C.,D

Question Number : 43 Question Id : 3421233563 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A major defect of the sargeant plan was

1. Integration of education with economic institutions

t2

. Emphasis on social sector
3. Too much importance to technical education

4. Highly selective admission to colleges

Question Number : 44 Question Id : 3421233564 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following recommended the linkages of Universities with outside autonomous
research organisations?

|. Indian Council of Medical Research
2. Education Commission ( 1964-66)
3. Indian Council of Agricultural Research

4. Caleutta university Commission

Question Number : 45 Question Id : 3421233565 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Numbers : (46 to 50)
Question Label : Comprehension

Assamese or “Asomiya’ is the most commonly spoken language in the state of Assam. Besides. it
also serves the purpose of a link language in the whole region. As a language, it is considered to
have evolve out of Magadhi, a form of old Prakrit language. However, on account of various
influences over the vears the language has come to acquire some variations in its form of speech.
These are called the groups of dialects of Assamese. Of these, the eastern group of dialects is
spoken mainly in the Sibsagar district and its adjoining areas. Similarly, the central group of
dialects is mostly spoken in the Nagaon district and the areas adjacent to it. In the west, on the
other hand, there are two distinct groups of dialects. These are called the Goalparia and the
Kamrupi groups.

Bodo or ‘Bo-Ro’ is another important spoken language of the state. It belongs to the Tibeto-
Burman language family and is mostly spoken in the areas coming under the Bodoland Territorial
Council, where it is the official language. By the 92nd Amendment of the Constitution of India
2003, Bodo has also become one of the 22 scheduled languages of the country.

Sub questions

Question Number : 46 Question Id : 3421233567 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

From which language is Asomiva considered to have evolved?

1. Tibetan
2. Magadhi
3. Angika

4. Thai
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Question Number : 47 Question Id : 3421233568 Question Type : MCQ Option Shuffling : No
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Which group of dialects is spoken in Sibsagar and adjoining areas?
1. Southern
2. Eastern
3. Western
4. Northern

Question Number : 48 Question Id : 3421233569 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which groups of dialects are spoken in the western regions of Assam?

1. Goalparia and Dimasa
2. Kamrupi and Karbi
3. Goalparia and Nalbaria

4. Goalparia and Kamrupi

Question Number : 49 Question Id : 3421233570 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the official language of the areas under the Bodoland Territorial council?

l. Rava

2. Asomiva
3. Bo-Ro
4. Garo

Question Number : 50 Question Id : 3421233571 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What is the link language of the region as mentioned in the passage?

1. Asomiya

t2

. Bodo

3. Nagamese

o9

. Kamrupi
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